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Amoner : 1) Boo S HD0 Simeeang, dmood 1,2.3 Hoe 4 oo Lol git SHoed Koo
@ 54 Somyil S i, ol 8 Deaingin. S8 HOEH SEmBROBE 1 o, ‘

2) §8 8, SeeerSinsE 1/4 fndiyh Aoso tedye ol S3Sabot,
3) 0@ ddosee ol e Sl ).
1) “Rorelpth drtnm aScnrD” ol al............
“The Sun rises in the east™ 15 a..........cconee... |
1) ESSSSn; Statement 2) Hodind EdSHsn; Compound Statement
3) D&fgreridin; Contradicion 4) J5%8 Tautology
2)  (x-y)" &S D¥Eed® Soro Hetre Iodo...........

The Sum of the coefficients of the terms in the expansion of (x-y)"is....
1) n+ 2y 2° 3 0 4) n-1

3) If 5=3" gons (then) X =..cueeeee.e.
1) 4 2) -4 3) 1 4)0

4) (-3,-2),,2),(-2V3,3J3) e siberiso (@epebones wand
R BOKYE EOGED............

If (-3, -2),(3, 2), (—Z-Jri Jxﬁ) are the vertices of an equilateral
triangle, then its circum centre is ...............

1) (-243,343) 2) 0.0 3) {i‘i’ “E] 4 [Gfliﬁ}

5) "oa ga” ©38 ......... SOEBOSDH ¥ A,
“Pen Drive™ is an example for .................. device.

1) 25:345; Input 2) ©He55345; Output 3) pl; Memory 4) None of these; 28seeh
6) GuSod Howogred® Hhabo 28?7 Which of the relations is a function?
1) Sclf-Foe S Sooodo; The relation between father and his sons

2) FhHo-ddd &g Somofo; The relation between the sons and his father

3) 1 H0dim 2;1and 2 4) Hbseto; None of these @
N ———




7)

8)

9)

10)

11)

12)

13)

14)

15)

A={%8 Hirm Soggen) B={B8 Siew Soggeo} wond AAB=..........

If A={Even natural numbers}, B={Odd natural numbers } then AAB=......
1) N 2) £ 3) W 4) R

(0,0), (1,0, (0,1) &oeenrr Ko (Bbe DEPEOE.................

If perimeter of the triangle formed by (0,0), (1,0), (0,1} is ...............

1) V241 2)2-1 32442 432
i |
x3+x3=2 O PSSP ..evrinnnrnnnns .
) 1
The solution set of the equation 3 4 x3 =2
1) {-8,1) 2) {8.1} A 4{-23)

|
If 33* =54 B (and) ¥5* =3 s (then) 2xy=....oovcvnnne.
1) 1 2) 2 3) 3 4) 4
(x—-1) :9:58 ax?-2bx+c=0% =GeroSlin wand.................

If (x=1) is a factor of ax’=2bx+c=0 then........cc.........

1) asoBaio ¢ o Hfto b; bisthe mean of aand ¢
2) b Hodo ¢ o Hfko a; ais the mean of band ¢
3) a0 be o c; cisthemeanofaandb 4) 85585y, can not find

[ [
"_;E T 4T Y O : The reciprocal of “_]ﬂ P
X" -4 X" =4
i '] | |
1) -4+ Crdd+18 3 4 -
) 16 2 ]x‘uh‘nﬁ x? +dx® +16

AErSE e SSrodborr af) Spe g BFwo........... &'mo
The angle between the lines parallel to the co-ordinate axes is.........angle

1) &rig Zero 2) woe; Right 3) S0 Straight 4) o085 m0; Obtuse
If n()=700, n{A)=200, n(B)=300 &8k (and) n(ANB)=100 ean:s

(then) n{A'NBY=..........cno..

1) 400 2) 300 3) 100 4) 600

If ﬁ=['1':], E=[: ’i]a’nﬂ:ﬂ:} (and), (A+B)*=A24+B*4+2AB ecui
L | O | —

1) a=1,b=-2 2) a=1,b=2 3) a=-1,b=2 4) a=-1, b=-2




16) Srderod® webdo Sitn T8, erend Shito 72, Jwndo Srdere Sitn 76
©ons arenld Royy, oeDSe Sogge P8 ...

In a school, average score of girls is 78 and that of boys is 72. The

average for school (boys and girls together) is 75. Then the ratio of
number of boys to number of girls is .........cc.....

1) 12 2) 2:1 3J) 31 4) 1:1

17) (5x*=4x+2)rm (4x*=2x~1)=0 Gotf) Hxrere ©QO 3 GAH M=.orvvrveraveee
The product of roots of (5x*—4x+2)+m (4x*-2x—1)=0 is 3. Then m=...
1) 0 2) -1 3) 1 4) 2

18) If (x+3, 4—y)=(1,7) a5 (then) (x-3, 44Y)=....coviinnns
1) (-5,1) 2) (-3,-2) 3) (6,8) 4) obeeth; None of these

1) 332 2) 336 3233 4) 3.J6
20) (Bod 0E° oSSl S68c A8 D87 .vveeeereen

Which of the following is not Input device?

1) &&%ty; Keyboard 2) &°; Mouse 3) (BobB; Printer 4) Hseti; None

21) o8 E56° 16 Sood (8885, 12 Job HBerd, X Hobd Pherd, LS
18845 S50akn HSerd, 4ibth (3838 Hddin rbeed, 50t Hferd Hbam
Fherd, e Sudh ebo edhed. ndo 55 Sehen 37 wad x=...

In a club 16 play cricket, 12 play football, x play volleyball, 3 play
cricket and football, 4 play cricket and volleyball, 5 play football and
volleyball, and one play all the three games. If the club has 37
members, then x = ................

1) 25 2) 18 3) 20 4) 16
1 0 2) (2
22) (123)|2 0 1] [4 A
01 2)|6
1) (28) 2) (82) )6 HE2

23) 5545545545555 i,

1) 5% 2) 25° 3 5° 4) 6° C"




24)

25)

26)

27)

28)

29)

30)

31)

> Sabiy) e FHdH Sahiy) Yol 3 Bay, 5 Soldre ShHed oo

=

28 5560y DK epes® Db wodtpotre ogo 1 HOD « By
(-12,1) Hore HFGHHS, od $osbeo ..............

If the product of the Intercepts of a straight line is 1 and the line passes
throught (—12,1) then its equation is...............

1) 2x+25y=1 2) 16x+y=4 J) x+16y-4=0 4) x+13y=1

b Sabin Dot By & Sdbiy) doknod. wond o (Sl
SCADFEY) evrnerrnn. DONED,

| am three times as old as my son. Five vears later, | shall be two and
half times as old as my son. My present age is ............ years,

1) 25 2) 35 3) 45 4) 55

A={x/x &350 48 Q¥ s~orolio, XEN| A Aol [Edrd Sindbe Hoyg
A={x/x is a factor of 48, xeN}. The number of proper subsets of A is.....
1) 512 2) 511 3) 1024  4) 1023

If A:[f _T] wowd (then) A-AT=.............

05 0 -5 50 -5 0
1} [5 ﬂ) 2"[5 ﬂ] 3 [n 5] 4}[ 0 :i]
Sogrgb Deedollh..............; Father of Computer is..................

1) eri}ed; Babbage 2) §2srs oirHas; Srinivasa Ramanujan
3) domgtor); Newton 4) arSdoegsba; Vann Newmann

y-sfo ol (4,7) e5HDoHH ........ Dy Ertos® Bol.

The distance of the point (4,7) from the y-axis is ................ units,
N 7T 2) 4 3 3 4) 10

Sufod 6* Boddh PFIFes 0B 26?

Which of the following is not a measure of central tendency?

1) &rfeo; Mean 2) doggiso; Median

3) eedrotido; Mode — 4) (Sibdderidn; Standard Deviation
A—(BUC)E......ccovncssinnss

1) (A-B)N(A-C) 2) (A-B)U(A-C) 3) (AUB)-(AUC) 4) (ANB)-(ANC)




a2)

33)

34)

35)

36) (2,3) HBck (4,1) &5 DotoSen Bob........ Dothds® :ahab DotbHen erbid.
The points (2,3) and (4,1) are collinear with the point ..............
1) (7.2) 2) (7.-2) 3) (-7.2) 4 (-7-2

37) SoipBetn el Jgrre ............... B4H0S" Gotrom.

38)

1 1 1
x+2" x+3 x+5

1 I 1

e woH|EAS® Ko ©aH X = covvviereraeernns

If N2 x+3 R4S are nA.P.thenx =.......
1) 5 2) 3 3) 1 4) 2
2 eco (the !
If A= 0 (then) {A }
1 {1 26 1 26 1 1 -26 | (=) =26
" Er[u ITJ ]_[u n] 3) ET[H -11] Y 'z':[ 0 -27
) f(a)
If -~ wond (the i
f(x) Xx-1 ) fla+1)
1) f-a) 2) r[:} 3 fa)) ) [- I]

21 o Domghe Wity 40 &.¢r. IwsS 10 Dob Doven Bk
othap 42 8. Sobdin D506 10 Seod ﬁm@d&u Siftn oy 38 8.
o 115 ﬂmﬁg BOTIRD vrerereernne B lIP,

Mean weight of 21 boys is 40 kg. If the mean weight of first 10 boys is
42 kg. and that of last 10 boys is 38 then weight of 1 I1th boy is ........ kgs.

1) 40 2) 20 3) 42 4) 30

All the units of a computer are controlled by ...............

1) Daboie Dgrrio; Conbrol Unit  2) eosnidd eedys Degriidm; ALU.
3) g% Memory Unil 4) Sbsth; None
mmﬁ‘m@n-m 10, 12, 14, x=3, x, x+2, 250 H¢gido 16 |
SO0 X=..

If the median of observations arranged in ascending order
10, 12, 14, x=-3, x, x+2, 25 5 15then X = ......cccccerunna

1) 15 2) 18 3 12 4) 21 @




-

39) woSFAED 185 HOd® 115 Soro YA 3:2 wow:s 215 HOa
TS ST - S—

If 18th and 11th terms of an A.P. are in the ratio 3:2 then its 21st and
5th terms are in the ratio 15 ......ccoeeeenes

1) 32 2) 3: 2 13 4) 2:3

40) (1,2) (3,4)i Seod Beeypotizin @) von Hbwolss Bp HivEdmo......
The equation to the perpendicular bisector of the line segment joining
) W P ) J—

1) x+y-4=0 2) 3x-2y+5=0 3) x+y-5=0 4) 2x-y+5=0

41) P:2x2=6, q:2-4=2, peq o8 Sdod..............
P:2x2=6, q:2-4 =2, the truth value of p&qis..................
1) T 2) F 3) 18 210r2 4) 3580; Cannol say

X
42) [f __l_] Disted® 1S So HgSdo sand (r+3)8 Sdo.........

2X "
If r th term is middle term in [11 = é) then (r+3)th term is...........

1) mc,[;T’j] 2) zucq[q—f;J 3) M,[;—:] 4) Iﬂc,[z'l“]

43) If a+b+c=0 sand (then) a®+b+c?=................
1) 27abc 2) 3abc 3) Gabc  4)3adc’
44) x=0, y=0, x=3 500d%n y=3 o3 D5HAS |Ph e=bo ...........
The graph formed by x=0, y=0,x=3 and y=3 is ...................
1) #do; Circle 2) (Bebeo; Triangle
3) Bgs@sio; Rectangle 4) S&Oio; Square

If the difference of mode and median of a data is 24 then the difference
of median and mean is .........cccccee.

1) 12 2) 24 3) 8 4) 36 @




AS® 106 rotren Bod. A ol AD Ko Bybn (Sdatre Sogg
The number of bijective functions from a set A to itself when A contains
106 elements is

1) 106 2) (106) 3) (106)  4) 2%

ax?+bx+c=0 (a,b,c#0) GwE) Sarere Indo 8 D Sre Sro Ines

If the sum of the roots of the quadratic equation ax*+bx+c=0 (a,b,c20)

; : . a b
is equal to sum of the squares of their reciprocals then —, —, =

11 | c ab
1) wob@s; AP. 2) oe(Es; GP. 3) Sora)ss; HP. 4) Dbsedo; None

The method of solving a problem is
1) ©ot5S; Algorithm 2) (EdES0; Flow Chart
3) sedgEao; Program 4) dbscd; None

(a,btc), (bcta), (c,a+h) So2ed S Bghes Jereyo
Area of the triangle formed by (a,b+c), (b,c+a), (c,at+b) is...........5q.

1) 0 2) 2 3) 3 4) 4

A &38 “RAMANUJAN MATHEMATICS CLUB"S* egSine 58,
B &it “SALUR"S® sgisne 5508, C &id “JAl SAMAIKYANDHRA
PRADESH"¢® egtsne S8 Hodn D e36 “SAVE ANDHRA
PRADESH"¢® efssne 5508 sonid Ciol Db e Sopogre Soyg

If ‘A’ is the set of alphabets in ‘RAMANUJAN MATHEMATICS
CLUR’, ‘B’ is the set of alphabets in “SALUR’, *C" is the set of alphabets
in ‘JAI SAMAIKYANDHRA PRADESH® and ‘D’ is the set of alphabets
in ‘SAVE ANDHRA PRADESH® then number of relations can be formed
fromCtoDis.....ccccveeceraes

1) 117 5 2 gy .

(8)




